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QID:101-
In the following guestion, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

el vy & Ry o7 Reul & @ wy B
(?) & TUT W HE drell TEA H FEAT

14113 | 12 | 11
17116 | 15| ?

Options:
1) 13

2) 14
3)12

4)11
Correct Answer: 14
Candidate Answer: 14

QID: 102 -
How many rectangles are there in the given figure?

& 7% T A foraer T €2

e
—

Options:
1)4

2)3
3)2

4)5
Correct Answer: 3
Candidate Answer: 4
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QID : 103 -

A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-1 are numbered from 0 to 4 and
that of Matrix-ll are numbered from S to 9. A letter from these matrices can
be represented first by ils row and next by its column, for example, ‘C’ can
be represented by 10, 56, etc., and ‘F’ can be represented by 31, 85, etc.
Similarly, you have to identify the set for the word “*TRUMP".

TS eg Shadl U AEIT-Heg &y geidr & &, ofr fF fasedt & @
e e # fgr & Rwedt # By ov g IeRt & o @oit
I g W S s R wiw g aegR # 1 aneggl & wdew 3R
Ufer & GEaT 0 § 4 F AR MG A 5 A 91 39 eyl § Ud BN
@ upel 3O uftn 3R 9 # TaEW WEAT G gl a1 @edr #
sEIReT & fow <C’ 10, 56, 3T GRT G S GehdTl & @ P @l 31,
85, 3 &I glT =1 Twar & =W e @ 3w wa # RE g
“TRUMP” & fo o 6 geamar @

Matrix-I Matrix-ll
IR ISl
o[112]374 5]/6(7[/8([9
0|V|K|D|F|R slwlclula]|1
1|CIWIO[H|V G K|J|IH|Q|S
2IT|IS|Y|J|S fTIUIE]Y[B|A
3|H|F|J|C|R 8|F|H|P|L|N
4|ID|S|U|N|A g|A|IR|IM|T|O

Options:
1) 20,04, 75,11, 41

2) 98, 34, 42,97, 87
3) 67,96, 97, 67, 43

4) 20, 34, 44, 59, 87
Correct Answer: 98, 34, 42, 97, 87
Candidate Answer: 98, 34, 42, 97, 87

QID : 104 -
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7% 3R AE A ¥ IW S Il @ gaw
fora & uy spfa AT &

N

B e e N e TR o e o, R



Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:

QID : 105 -
Which answer figure will complete the pattern in the
question figure?

wid W 39 AHA T AEA & uiaww @ gm
HLIN?

"~J

B e e N e TR o e o, R



Options:
1)

2)

3)

4)

Correct Answer:

Candidate Answer:

QID : 106 -
[f a mirror is placed on the line AB, then which of the
answer figures is the right image of the given

figure?

afg T EUUT i AB T W @ ST, o & TS
TR Aephal d ¥ FiT o anela wy aela fr
e wiafesa geir?
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Options:
1)

D)

2)

3)

4)

()

Correct Answer:

(X

Candidate Answer:

()

QID: 107 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ ouy amplaal # G 3EER wee @i
AT e JWT Wield & I I *hd S 3G
e fgmg geme

JINEERE




Options:
1)

N
—

Y
<

=] &1 [ &

Correct Answer:

Candidate Answer:

QID : 108 - If 'P' means ', '‘Q" means "=', 'R" means '+’ and 'S' means 'x', then
4Q85S170R11P2="?
i P @1 31 ', 'Q @1 arf '+, 'R BT o1 4 qUT 'S @y orf x|, |l

4Q85S170R11P2=7?

Options:

1) 17

2) 15

3)37

4) 43

Correct Answer: 17

Candidate Answer: [ NOT ANSWERED ]

QID:109-1f10P6 Q3 = 13 and 11 P 12 Q 13 = 10, then
11P7Q6=2?
IT10P6Q3=13TT11P12Q 13 =107, d

11P7Q6=7?
Options:

1)11

2) 12

3)9

4) 27

Correct Answer: 12
Candidate Answer: 12
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QID : 110 - Arrange the given words in the sequence in which they occur in the dictionary.
1. Theme

2. Thirst

3. Thing

4, Thames
5. Thurst

FAfiEd Uedl B Tsad IR H S T o H P SIUR o |
1. Theme

2. Thirst

3. Thing

4. Thames
5. Thurst

Options:
1) 42351

2) 41235
3) 43251

4) 41325

Correct Answer: 41325

Candidate Answer: 41325

QID : 111 - In the following question, select the missing number from the given series.
29, 31, 35,41, 49,?

Fefated Uy 7 AU T fawedl § 9 g Si 1 Siferd |

29, 31, 35,41, 49,?
Options:
1) 56

2)59
3) 53

4) 63
Correct Answer: 59
Candidate Answer: 59

QID : 112 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
BD, FH, JL, ?

TP I & T, o ¥ Ue e g 31 T e fawent & & a8 wEl fawen gfAT, S ogmH &) I R

BD, FH, JL, ?

Options:

1) MN

2) NO

3) MO

4) NP
Correct Answer: NP
Candidate Answer: NP

QID : 113 - In the following question, select the odd word from the given alternatives.

Frafeed we § fou T fawed & 9 faud <ies &1 giu)
Options:

1) Brain

RIS

2) Lungs

L)

3) Kidneys

4) Feet
Rip o




Correct Answer: Feet

R

Candidate Answer: Feet

Rip U
QID : 114 - In the following question, select the odd number pair from the given alternatives.

iR vy o fou 1 feedl & 9§ faww dem gm &1 ghuy
Options:

1) 10 — 1001

2) 11-1332

3) 12 - 1727

4) 13 -2198

Correct Answer: 12 — 1727
Candidate Answer: 11 — 1332

QID : 115 - In the following question, select the odd letters from the given alternatives.

fafared oy # 4T T e § 4 favm siert @1 g
Options:

1) ZAB

2) YZA

3) PQR

4) YZB

Correct Answer: YZB

Candidate Answer: YZB

QID : 116 - Identify the diagram that best represents the relationship among the given classes.
Cat, Rabbit, Humans

Ig o gAY ot i 3w 7 o & < 3 ey o1 wel feuer o

foreett, @, wgw
Options:
1)

Correct Answer:
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Candidate Answer:

QO
O

QID : 117 - In the following question, select the related word from the given alternatives.
Hibernation : Sleep : : Marathon : ?

Frofiaa uy 7 5 e fowedl & & Wefia wsg &1 g

afiSsgar : g : : ARTATT: 2

Options:

1) Heat

ST

2) Race

3) vFatigue

YbTT

4) Water
ol

Correct Answer: Race

Candidate Answer: Fatigue
YpT

QID : 118 - In the following question, select the related number from the given alternatives.
22:490::28:?

FrafaRed vy § fou T e § 9 Wafda e &1 ghuy

22:490::28:?

Options:

1) 784

2) 390

3) 564

4) 790
Correct Answer: 790
Candidate Answer: 784

QID : 119 - In the following question, select the related letters from the given alternatives.
OWL:PXM::MAN:?

FafiRad uy # 3T e fowed & § Wafia sieri 31 gul

OWL:PXM:: MAN:?

Options:

1) NBM

2) NBO

3) OBS

4) PQR
Correct Answer: NBO
Candidate Answer: NBO

QID : 120 - In the following question, select the word which cannot be formed using the letters of the given word.
DISTASTEFUL
Fafiied fomedl & @ 98 Wsg T il fAT U 21sg & S1eRY &1 TN B el a1 off Fabd|

DISTASTEFUL
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Options:
1) TASTE

2) DUST
3) STATE

4) TRUST
Correct Answer: TRUST
Candidate Answer: TRUST

QID : 121 - In a row of boys, Prakash is 19t from top and 215t from bottom. How many boys are there in the row?

TSP B TP Ufed H, UBTI FHWR ¥ 19 of § qur 9 ¥ 21 oF B UfF | o fooam asd 22

Options:
1) 42

2)39
3)40

4) 44
Correct Answer: 39
Candidate Answer: 39

QID: 122 - Tis 5 years older than U. U is 8 years younger than V. V is 3 years older than W. W is 9 years younger than X. Which of the following have same age?

T,UdsaiaEIgI U, VA BT BRI BV, WA 3 TH g1 81 W, X ¥ 9 7 Bler 51 Fafafas § 3 femat g s 72
Options:

1H)Wand T

WAl T

2)WandV

waarv

3) Vand X

Vv ayr X

4)Xand T

Xddr T

Correct Answer: Wand T
wWadr T

Candidate Answer: W and T
WaurT

QID : 123 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
LAITareS.
II. NoTisR.

Conclusions:
I. Some R are S.
II. Al S are T.

2 AU M Uy F & HUA AR IP a1E I BT R MR & ey AT 71U €, greiifes ST G F1d qedi § fivsren g1 gebelt 81 g+ sy ug ok fthr MR
X o AT Y I F Freep, AU T8 ol & SR W GfRid &1

PYA:
LadiT, sl
IL HS T, R I

frep:

L. $SR, ST

i ot s, TR

Options:

1) Only conclusion (I) follows.
e (1) W 21

2) Only conclusion (IT) follows.

Fad ey (11) TE B

3) Both conclusion follow.

T €t o] Wt B

4) Neither conclusion (I) nor conclusion (II) follows.

T o freef (1) 7 € Freed (1) Wt B

Correct Answer: Nelther conc]ust o) nar conchcion (1) fallowe —
— = Prerf rev = =H s BRI e _a:_..—::""_m:aaaﬂ"’nm u-r—r_:_';ﬂ/




Candidate Answer: Neither conclusion (I) nor conclusion (II) follows.

T8 ey (1) 7 & P (11) T B

QID : 124 - In a certain code language, "TALENT" is written as "VZNGMV". How is "ACTIVA" written in that code language?

e IR Pis 4w §, "TALENT" &) "VZNGMV" iiRaT SIIdT 81 39 &) HINT H "ACTIVA" &) g TR forar smam?
Options:
1) CUKVBC

2) ZXGRZC
3) CRXZGX

4) CBVKUC
Correct Answer: CBVKUC
Candidate Answer: ZXGRZC

QID : 125 - In a certain code language, "HULK" is written as "56" and "STAR" is written as "62". How is "FULL" written in that code language?

% IR H18 U &, "HULK" &1 "56" d4T "STAR" &1 "62" foRal ST §1 39 $IS UINT § "FULL" &1 fhd TSR forar sigrm?
Options:
1) 54

2)55
3) 56

4) 50
Correct Answer: 55
Candidate Answer: 55

QID : 126 - When N is divided by 36, then remainder is 12. What will be the remainder when N will be divided by 9?

g N BT 36 F AU fmar Sirar €, o S9wd 12 o 31 A8 w1 81 Wi N 6 9 J fyuifra farar smamme
Options:
1)3

2)4
3)2

4)1
Correct Answer: 3
Candidate Answer: 3

QID : 127 - What is the highest common factor of (6/19) and (16/57)?

(6/19) AT (16/57) P HeH THIGAD 0T &2
Options:
1) 2/57

2) 57/2
3) 4/33

4) 29/4
Correct Answer: 2/57
Candidate Answer: 2/57

QID : 128 - How many numbers from 33 to 143 are divisible by both 4 and 7?

33 ¥ 143 9% Wl fhait T= § S 4 91 7 31 9 faursa gt &2
Options:

1)4

2)5

3)3

4)6

Correct Answer: 4

Candidate Answer: 4
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QID : 129 - For what value of A, number 37A4 is divisible by 4?

A ¥ forg T & forg TRem 374, 4 9 fausa 82
Options:

1)7

2)0

3)3

4)1

Correct Answer: 0

Candidate Answer: 0

QID : 130 - Which of the following statement(s) is/are true?

1. (V6 — V4) <(V7 - V3)
IL (V7 + V3) < (V6 + V4)

i & o119 /3 3 99 §/87?

I (V6 — V4) <(V7 -V3)
IL. (V7 + V3) < (V6 + V4)
Options:

1) Only I

HIA1

2) Only II

Had II

3) Both I and II

197 11 S

4) Neither I nor II
aaiagn

Correct Answer: Both I and II

LT 11 &iHl

Candidate Answer: Only I
Pad 1

QID : 131 - If (7/6) of a cube of a number is 252, then what is the number?

IfE TP WS & ©F BT (7/6), 252 § o = 1 82
Options:

1)5

2)6

3)7

4)8

Correct Answer: 6

Candidate Answer: 6

QID : 132 - A pipe can fill a tank in 100 hours. Due to the leak in its bottom, the tank is filled in 120 hours. If the tank is full, then in how many hours that leak can
empty the tank?

qmtrﬁa%qwéﬁﬁloo He T IR THA1 81 1 & a9 § 8% 8H & PRI, TH! B WA H 120 O T &1 Al <t T -7 g1, < I8 9% <ol & fdhem o & @t IR
Tavdl 572

Options:

1) 660

2) 500

3) 600

4) 650

Correct Answer: 600
Candidate Answer: [ NOT ANSWERED ]

QID : 133 - X alone can do a work in 20 days. X is 20% less efficient than Y. In how many days can Y alone do the work?

X TP B BT e 20 f&AT H G IR THa 81 X, Y H 20% HH PG 31 Y b 39 P DI fobe &A1 H g1 Home
Options:

1)18

2)15

3) 16

4)19

Correct Answer: 16

Candidate Answer: 15

QID : 134 - What is the area (in cm?) of the rhombus having side as 10 cm and one of the diagonal as 12 cm?

- — —
= e e e a1 0 2 TR S Eu,m_';y/



Options:
1)92

2) %
3) 94

4) 98
Correct Answer: 96
Candidate Answer: 96

QID : 135 - A merchant allows two successive discounts of 20% and 15% on selling an article. If he gets Rs 816 for the article, then what is the marked price (in
Rs) of the article?

& IR foelt aXg 1 S 90, 20% T 15%, 1 &1 $hitid g odl ¢ | AfG 98 39 a%g & 816 T WK T §, dl axg B Sifdhd e (3 H) T 2
Options:

1) 1000

2) 1200

3) 980

4) 1280

Correct Answer: 1200
Candidate Answer: [ NOT ANSWERED ]

QID : 136 - A shopkeeper gives a discount of 16% on the marked price. To earn profit of 26%, by how much percent should he mark the price of his goods higher
than its cost price?

TP GHMGER Sifhd T IR 16% BT FT <A1 §1 26% BT A1 U A P 0T SS9 Ixg il &1 Hed, Ha T I b1 UfeRid Sifde siferd e afgw?
D

2)35

3)25

4) 50
Correct Answer: 50
Candidate Answer: [ NOT ANSWERED ]

QID : 137 - Of three positive numbers, the ratio of first and second is 4 : 7, that of second and third is 2 : 3. The product of first and third is 4200. What is the sum
of the three numbers?

T T Temalt H Ut auT GER) Pl SUTd 4 & 7, TER! aUl SRR BT SU 2 : 3 31 use qur d16=) &1 U 4200 B1 9 Remsit &1 @ @ 2
Options:

1) 225

2) 215

3) 250

4) 235

Correct Answer: 215
Candidate Answer: 215

QID : 138 - Three numbers are in the ratio 4 : 5 : 6. If the sum of their squares is 1925, then what are the numbers?

A URE 42 5 : 6 F U A &1 AT % T BT AT 1925 €, <O TRSATE 1 62
Options:

1) 20, 25, 30

2) 15, 20, 40

3) 20, 35, 30

4) 40, 20, 10
Correct Answer: 20, 25, 30
Candidate Answer: 20, 25, 30

QID : 139 - The average of N numbers is 21. If a number 57 is removed, then average becomes 17. What is the value of N?

N Tl o1 iR 21 1 IS T TReAT 57 Fl gerdn S, o SikGa 17 81 Sl €1 N &7 7 o7 872

- — —
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Options:
1) 10

2)8
3)9

4) 11
Correct Answer: 10
Candidate Answer: 10

QID : 140 - By Selling 4 articles for 1 rupee, a man gains 25%. Had he sold 2 articles per rupee, then what will be the profit percentage?

1390 § 4 g3l B 9T R U AR BY 25% HT a4 il 81 TS 98 U 390 H 2 aq o, df o ufasia o1 g
Options:

1) 120

2) 150

3) 100

4) 225

Correct Answer: 150
Candidate Answer: 150

QID : 141 - An article was sold at 19% gain. Had it been sold for Rs 750 more, then the gain would have been of 34%. What is the cost price (in Rs) of the article?

TH a%] BT 19% T TR 41 T fe 750 T S T W IY 51 o1, <l 34% DT A1 Tl axg &1 3 Ted (¥ H) F7 82
Options:

1) 5500

2) 4000

3) 5000

4) 4800

Correct Answer: 5000
Candidate Answer: 4800

QID : 142 - A number is multiplied by (6/7) instead of (5/8). New value is what percent of desired value?

TP TN DY (5/8) B SO (6/7) | T[N R a1 Sl &1 a1 HH AT A b7 febeT e 82
Options:
1) 139.22
2)137.14
3) 143.33
4) 166.66

Correct Answer: 137.14
Candidate Answer: [ NOT ANSWERED ]

QID : 143 - L is 20% less than M. M is 20% more than N. N is 30% less than P. If P is 2000, then what is the value of L?

L, M ¥ 20% A S M, Nq 20% 31 81 N, P ¥ 30% HH 1 3f& P, 2000 B, ¥ L &1 I 1 82
Options:
1) 1268

2) 1344
3) 1272

4) 1352
Correct Answer: 1344
Candidate Answer: [ NOT ANSWERED ]

QID : 144 - The downstream speed of a boat is 17 km/hr and the speed of current is 2 km/hr. What is the total time (in hours) taken by the boat to cover 65 km
upstream and 170 km downstream?

ot =g ot i U1 % S 17 5. /eie 8 aut R 3t iy 2 .1 /eier 81 4R & widma 65 .1, aut oR1 % s@d 170 fhH. Bt gl I FA B A9 B pa
fea Twr (43 &) e 82

Options:

1) 10

2) 16
3) 18

4) 15
Correct Answer: 15

- — —
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Candidate Answer: [ NOT ANSWERED ]

QID : 145 - A man goes to a place at a speed of 20 km/hr and comes back with a different speed. If the average speed is 8 km/hr, then what is the return speed
(in km/hr)?

e &fad 20 fo5. 1. /der o i I ol R | ST § 991 T 7= 71 | aro srar 1 At sivyd i 8 o1t /eieT 8, o 91N ot e i (b /eien #) @ 2
Options:
1)5

2)8
3)6

4)9
Correct Answer: 5
Candidate Answer: 5

QID : 146 - What is the compound interest (in Rs) on a sum of Rs 10000 for 3 years at the rate of 2% per annum compounded annually?

10000 ¥ F O W 2% 1 qIftfes oR IR a1 FioH § 3 a8 T Fehgig s (3 H) 71 82
Options:

1) 492

2) 300

3) 612.08

4) 624

Correct Answer: 612.08

Candidate Answer: [ NOT ANSWERED ]

QID: 147 -
The bar chartgiven below shows the sales (in lacs) by 2
companies X and Y from year 2011 to 2015.

d=r BT 7w gz By & =§ 2011 @ 2015 T 2
Fafaat X gour Y Fr Rhr (ar@r &) o e =

O Company X /&9t X O Company Y /&HIaT Y
60 ~
—_ ND
— T DCO
SF 50 - o= AR
E'E 40 N
c ‘ o
2= 308 [
58 2
10 A
0 T 1
: (| [3p] -t fe)
o o o o o
(] (] [ o™ ™~
Year/a%

Companies X and Y show the same difference in sales for which of the following years?

FHufar X aur Y &) 3t o1 s Frafafad & 9 5= auf & 9o ar
Options:

1) 2012 and 2013

2012 dY1 2013

2) 2011 and 2012

2011 T¥T 2012

3) 2012 and 2014

2012 Y1 2014

4) None of these

gTH A DI QI

Correct Answer: 2011 and 2012

—

— — -
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Candidate Answer: [ NOT ANSWERED ]

QID: 148 -
The bar chartgiven below shows the sales (in lacs) by 2
companies X and Y from year 2011 to 2015.

A f'w o gur Ry A& a9 2011 & 2015 O 2
Fufaat X g Y Fr R (arar #@) @ geirar T g

O Company X /&9t X O Company Y /9T Y
60 %
— ND
— I'p] o w
8F’ 50 - Ne [ BY
8- o T
EE 40 1 2 5
— [ap]
o =~ 301 8g
gﬁ 20 -
10 A
0 T T T T 1
‘\: [ o =t Lo
> > o b= b=y
o™ o~ (] ™ o™
Year/a¥

What is the percentage change in sales of company Y from year 2012 to year 20157

¥ 2012 T T 2015 d% ST Y BT 5T F ufcwrg aRad= w1 87

Options:
1) 36

2) 66
3) 60

4) 90
Correct Answer: 60
Candidate Answer: [ NOT ANSWERED ]

—r— i —
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QID : 149 -
The bar chartgiven below shows the sales (in lacs) by 2
companies X and Y from year 2011 to 2015.

A few T gus Ry A 3§ 2011 @ 2015 O 2
Fufaat X gour Y Fr b (erar #@) s geirar T g

O Company X /&9aT X O Company Y /&9aT Y
60 o
p— ) S e o
&K/ 50 - ne 1S BT
5 10 & =
CE 40 - 2 5
— [ap]
g — 30 - gg
Eg 20 |
10 -
0 - T T T 1
: (] (5] -+ [Fp]
) ) S o o
™ (o] [al] [l (o]
Year/a¥

What is the average sale (in lacs) of company Y over the 5 given years?

feu Ty 5 auf & Sul v @t ofivrd oot (amal 7) @1 62
Options:

1) 47

2)37.8

3) 84

4) 42

Correct Answer: 37.8

Candidate Answer: [ NOT ANSWERED ]




QID : 150 -
The bar chartgiven below shows the sales (in lacs) by 2
companies X and Y from year 2011 to 2015.

A few T gus Ry A 3§ 2011 @ 2015 O 2
Fufaat X gour Y Fr b (erar #@) s geirar T g

O Company X /&9aT X O Company Y /&9aT Y
60 o
p— ) S e o
&K/ 50 - ne 1S BT
5 10 & =
CE 40 - 2 5
— [ap]
g — 30 - ﬁg
5E 2
10 -
0 - T T T 1
: (] (5] -+ [Fp]
) ) S o o
™ (o] [al] [l (o]
Year/a¥

What is the percentage change in sales of company X from year 2011 to 20137

af 2011 ¥ 2013 TF HUT X B ! T vl uRad= = g2

Options:
1) 68

2) 84
3) 78

4) 34
Correct Answer: 68
Candidate Answer: [ NOT ANSWERED ]

QID : 151 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

T2e doctor warned the patient against any (1)/ further consumption of alcohol if he desired (2)/ to get cured from the ailment and live a longing life. (3)/ No error
f)p)tions:

1)1

2)2

3)3

44
Correct Answer: 3
Candidate Answer: 3

QID : 152 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

The viability of FI business is under question, (1)/ because while banks and its delivery partners (2)/ continue to make investments, they haven't seen
commensurate returns. (3)/ No error (4)

Options:
1)1
2)2

3)3

— S —
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Correct Answer: 2
Candidate Answer: 2

QID : 153 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

He was laughed
Options:
1) by

by all his friends.

2)at
3)to

4) of
Correct Answer: at
Candidate Answer: by

QID : 154 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

They use videos teach the kids.
Options:

1)to

2) for

3) of

4)in
Correct Answer: to
Candidate Answer: to

QID : 155 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Integrant

Options:
1) Gleeful

2) Item

3) Happy

4) Pleased
Correct Answer: Item
Candidate Answer: Pleased

QID : 156 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Overwhelmed
Options:
1) Surprised

2) Calm
3) Kind

4) Peaceable
Correct Answer: Surprised
Candidate Answer: Surprised

QID : 157 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Startled

Options:

1) Composed

2) Amazed

3) Expected

4) Comforted

Correct Answer: Amazed

Candidate Answer: Amazed
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e e e e W) /



QID : 158 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.
Docile

Options:

1) Easy

2) Unwilling

3) Agreeable

4) Adaptable
Correct Answer: Unwilling
Candidate Answer: Agreeable

QID : 159 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Truculent
Options:
1) Hateful

2) Brutal
3) Amiable

4) Abusive
Correct Answer: Amiable
Candidate Answer: Brutal

QID : 160 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Zany
Options:
1) Funny

2) Sober
3) Dumb

4) Fool
Correct Answer: Sober
Candidate Answer: Fool

QID : 161 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

The salt of the earth
Options:
1) A good, reliable, honest person

2) Selfish person
3) Motorious person

4) An angry person
Correct Answer: A good, reliable, honest person
Candidate Answer: An angry person

QID : 162 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

Dead in the water
Options:
1) No chance of succeeding or making any progress

2) Yielding only confusion
3) Died while swimming

4) Landed in trouble
Correct Answer: No chance of succeeding or making any progress
Candidate Answer: No chance of succeeding or making any progress

QID : 163 - Improve the bracketed part of the sentence.
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Options:
1) increase

2) increases
3) increased

4) No improvement
Correct Answer: increased
Candidate Answer: No improvement

QID : 164 - Improve the bracketed part of the sentence.

In China, more than two-dozen higher education research centres, and several government agencies are involved in higher education policy (to) optimum planning.
Options:

1) at

2) for

3)in

4) No improvement

Correct Answer: for

Candidate Answer: No improvement

QID : 165 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

That which cannot be seen through.
Options:
1) Transparent

2) Translucent
3) Neutral

4) Opaque
Correct Answer: Opaque
Candidate Answer: Opaque

QID : 166 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

Power of reading thought of others.
Options:
1) Neuropathy

2) Telepathy
3) Homeopathy

4) Orthopathy
Correct Answer: Telepathy
Candidate Answer: Telepathy

QID : 167 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Actualy

2) Actaully

3) Actually

4) Acaully
Correct Answer: Actually
Candidate Answer: Actually

QID : 168 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
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Options:
1) Jerney

2) Journey
3) Juorney

4) Journei
Correct Answer: Journey
Candidate Answer: Journey

QID : 169 - Rearrange the parts of the sentence in correct order.

When we are

P: compelled to act safely
Q: more aware of risks,
R: we feel more

Options:
1) PQR
2) RPQ
3) QPR

4) QRP
Correct Answer: QRP
Candidate Answer: QRP

QID : 170 - Rearrange the parts of the sentence in correct order.

Family planning

P: industrial countries, such as
Q: Japan and most of Europe
R: is national policy in many

Options:
1) PQR

2) RPQ
3) QPR

4) QRP
Correct Answer: RPQ
Candidate Answer: RPQ

QID : 171 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Unemployment is the cause of various problems in the society. While the government has taken initiatives to this problem, the measures taken are
not enough. The various factors causing this problem must be studied well to look for effective and integrated solutions for the . It is the time the
government should recognize the sensitivity of the matter and take some steps to reduce it.

the cause of various problems
Options:
1) root

2) branch
3) leaves

4) tree
Correct Answer: root
Candidate Answer: root

QID : 172 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Unemployment is the cause of various problems in the society. While the government has taken initiatives to this problem, the measures taken are
not enough. The various factors causing this problem must be studied well to look for effective and integrated solutions for the . It is the time the
government should recognize the sensitivity of the matter and take some steps to reduce it.

initiatives to this problem,




Options:
1) deduce

2) reduce
3) increase

4) result
Correct Answer: reduce
Candidate Answer: reduce

QID : 173 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Unemployment is the cause of various problems in the society. While the government has taken initiatives to this problem, the measures taken are
not enough. The various factors causing this problem must be studied well to look for effective and integrated solutions for the . It is the time the
government should recognize the sensitivity of the matter and take some steps to reduce it.

taken are not enough.
Options:

1) affective

2) innovative

3) effective

4) creative

Correct Answer: effective

Candidate Answer: [ NOT ANSWERED ]

QID : 174 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Unemployment is the cause of various problems in the society. While the government has taken initiatives to this problem, the measures taken are
not enough. The various factors causing this problem must be studied well to look for effective and integrated solutions for the . It is the time the
government should recognize the sensitivity of the matter and take some steps to reduce it.

solutions for the .
Options:
1) similar

2) alike
3) distinct

4) same
Correct Answer: same
Candidate Answer: same

QID : 175 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Unemployment is the cause of various problems in the society. While the government has taken initiatives to this problem, the measures taken are
not enough. The various factors causing this problem must be studied well to look for effective and integrated solutions for the . It is the time the
government should recognize the sensitivity of the matter and take some steps to reduce it.

take some steps to reduce
Options:

1) serious
2) mere

3) last

4) casual
Correct Answer: serious
Candidate Answer: serious

QID : 176 - Which of the following states has the highest irrigation coverage?
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Options:
1) Punjab
LEIE|

2) Haryana

3) Gujarat
4) Bihar
[EGN

Correct Answer: Punjab
EEIc)

Candidate Answer: [ NOT ANSWERED ]

QID : 177 - Which of the following is NOT an institution of World Bank?

fFrofafea # o1 fay 3@ 3t grr =8 82
Options:
1) IBRD

MECIRIRe |

2) IDA
3) IFC

4) ADB
st

Correct Answer: ADB

Candidate Answer: [ NOT ANSWERED ]

QID : 178 - Which artist decorated the handwritten copy of the Indian Constitution?

5y saeR 7 URd dfaur & swfaiea ufaat wors o
Options:

1) Raja Ravi Verma

REIRICEG]

2) Mihir Sen

fafeR 37

3) Nandalal Bose

Heqr 99

4) Ravindra Nath Tagore

g 2R

Correct Answer: Nandalal Bose
EENIGKCIE

Candidate Answer: [ NOT ANSWERED ]

QID : 179 - What can be maximum gap between two sessions of Parliament in India?

YR B TUE F &1 Wl & &9 sifeman faan siaR € W 82
Options:

1) 3 months

3 WEH

2) 6 months

6 MR

3) 1 year

1 91t

4) 4 months

4 g

Correct Answer: 6 months

6 FgH

Candidate Answer: 6 months
6 FGH

QID : 180 - Which of the following was the capital city of Maharaja Ranjit Singh's empire?
TH I HH AR I0d Rig & ey &t et o
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Options:
1) Lahore

2) Amritsar

AR

3) Ludhiana

4) qalandhar

SITER

Correct Answer: Lahore

Candidate Answer: [ NOT ANSWERED ]

QID : 181 - Who is known as the Father of Local Self-government?

YT W & fdr & U § S ST offdl 82
Options:
1)' Lord Curzon

2) Lord Ripon
SISARCE]
3) Lorg Carnwalis

42 Lord Dalhausie
WS SRS

Correct Answer: Lord Ripon

qre fam

Candidate Answer: [ NOT ANSWERED ]

QID : 182 - Which of the following countries share longest land boundary with india?
e 7 § o a1 & YR & a1y Jaffe yffy Fer 9w w3 82
Options:

1) Pakistan

Tiich &

2) China

I

3) Nepal

uret

4) Bangladesh

Correct Answer: Bangladesh

andidate Answer: Bangladesh

QID : 183 - The Nagarjuna Sagar project is constructed on the which of the following river?
AT AR GRESHT 9 3 ¥ fg 9 w Fafor faar w82

Options:

1) Godavari

2) Krishna

3) Cauveri

4) Mahanadi
Correct Answer: Krishna

Eull
Candidate Answer: [ NOT ANSWERED ]

QID : 184 - What is the largest part of the human brain?
T AR 1 Ty Ta1 i3 B 1 82




Options:

1) Mid brain

Yy

2) Medulla Oblongata
Sffseiier

3) Cerebrum
T

4) Cerebellum
JfeaH
Correct Answer: Cerebrum

Candidate Answer: Cerebellum

QID : 185 - Which animals may suffer from ‘foot and mouth disease'?

g & ¥ B9 THR TR ok g A @ difa 8 Tebar 32
Options:
1) Deer

2) Sheep
g

3) Goat
B

4) All options are correct

gt fachea Tt 8

Correct Answer: All options are correct

it fasey
Candidate Answer: [ NOT ANSWERED ]

QID : 186 - Which one among the following is known as 'animal starch’ ?

fafaRed & 9 @ 91 ue Iy ' % w9 & S S 87
Options:
1) Cellulose

2) Glucose

3) Glycogen

EGIECAE]

4) Pectin

Yl

Correct Answer: Glycogen

Candidate Answer: Cellulose

QID : 187 - Persons suffering from myopia are advised to use

TR ¥ IR e B JN T BT YAIG &l A g
Options:

1) Concave Lens

SIad o

2) Convex Lens

I A

3) Bifocal Lens

TABIHA ad

4) None of the option is correct.
P15 ot ooy et At 21
Correct Answer: Concave Lens
Sddd o

Candidate Answer: Concave Lens
CCRACK |

QID : 188 - What will be the impact on the duration of swinging of a pendulum if it is carried on moon?

UGAH &) T5H W FF IR 3P Thad b Fad 1 GG TR T YT gRI?




Options:
1) It will remain the same.

2) It will decrease.

3) It will be zero.

T4 g S

4) It will increase.
Correct Answer: It will increase.

Candidate Answer: It will decrease.

QID : 189 - Which of the following is first generation of computer?

70 ¥ HIF A HugeR 3f ugel Wil 72
Options:

1) ENIAC

2) IBM-1401

3) ASCII

4) None of the;e

FRERCIRE]

Correct Answer: ENIAC

Candidate Answer: [ NOT ANSWERED ]

QID : 190 - A non-volatile solid is added to water. Its boiling point will

TP RIS T A ST I I SR dEd A ghfyEm
Options:
1) decrease

2) increase

3) no change

4) No option is correct
Correct Answer: increase

Candidate Answer: increase

QID : 191 - Which of the following cells convert electrical energy into chemical energy?

fafafed & 3 frg 3a ¥ fagaa ot &1 IRmafe Se § Ied foam S 82
Options:
1) Galvanic

2) Electrochemical
3) Voltaic

4) Electrolytic

Correct Answer: Electrolytic

Candidate Answer: Electrochemical

QID : 192 - When was the Montreal protocol assigned to reduce production of Chlorofluorocarbons?

FARTFARIBIET B G Bl HH P P (AT Al ad UICDIa BI Ba gwiiad [Bar 7 42
Options:

1) 2001

2) 1980

3) 1987

4) 1994

Correct Answer: 1987

Candidate Answer: [ NOT ANSWERED ]
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QID : 193 - Which of the following state government has signed an MoU with Microsoft India to develop a unique "farm price forecasting model"?

Fofafea & § f5g Is0 WHR 7 URHNITe 35T & 1Y T Sifgad "oy gea yaiqas aisa” fAeRia o=a & R ud augiiar 0 W gwer & g2
Options:

1) Assam

3

2) Karnataka

Fledh

3) Kerala

B

4) Tamilnadu
Correct Answer: Karnataka

Candidate Answer: [ NOT ANSWERED ]

QID : 194 - Which one of the following was to be discovered first in the chromosphere of the sun?

9 H 9 o o g B HIHeihaR # ugd e T AT
Options:

1) Neon

GLiE)

2) Argon

SR

3) Helium

4) Xenon
S
Correct Answer: Helium

Candidate Answer: Helium

QID : 195 - Who has won the 2017 Women'’s Singles Wimbledon Championship?

f5am 2017 nfeen toa faeas ImaRm sikdh 82
Options:
1) Garbine Muguruza

2) Venus Williams
3) Serena Williams

4) Maria Sharapova

Correct Answer: Garbine Muguruza

Candidate Answer: Serena Williams

QID : 196 - The annual "Royal Kathina Ceremony" is associated with which of the following religions?
It "Xiae STl THRE P w6l 4 3 frad 9y 1 gen 82

Options:

1) Jainism

2) Parsi

YT

3) Buddhism

4) Sikhism

Rra

Correct Answer: Buddhism

Candidate Answer: Parsi

QID : 197 - Which of the following award is given for the field of medicine?
fakifed ¥ 3 oF O IR fafdeen & & | o omar g2
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Options:
1) B.C. Roy Award

1.3, 9 @R
2) Kalinga Award

EINE QIR
3) Bgrlaug Award

4) None of the option is correct.
oig i fdeey wg! 781 3

Correct Answer: B.C. Roy Award
.31, W TSR

Candiduate Answer: B.C. Roy Award
ot Y QREBR

QID : 198 - Who wrote the book "Old History, New Geography"?

"3ites faxdl, =g foramw forare forem foram ame
Options:

1) Anand Sharma

g gt

2) Digvijay Singh

fafigora g

3) Jairam Ramesh

[EUNEREN

4) Ashwini Kumar

SR AR

Correct Answer: Jairam Ramesh
SRR A

Candidate Answer: Anand Sharma
g Xt

QID : 199 - Which country has signed a deal with Russia to buy S-400 missile defence systems in year 2017?

T 2017 H 735 <=1 7 T-400 FRIE &1 yomelt T¥ien & o &1 % 91yt qHeiia W gweR far 82
Options:

1) Turkey

2) Syria

difear

3) Iran

4) Pakistan
i
Correct Answer: Turkey

Candidate Answer: [ NOT ANSWERED ]

QID : 200 - With which country India signed four pacts in areas of health and transport in September20177?
Ry 2017 ® WA 3R URag & 83 H URA 7 oy ¢ ¥ 9R I99d W gwdieR foar g2

Options:

1) Bangladesh

SIS

2) Srilanka

PiEal

3) Afghanistan

S

4) Nepal

BLIK

Correct Answer: Afghanistan

Candidate Answer: [ NOT ANSWERED ]




